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Assessment Name : OPRB CBRE Warder- 25th Dec 2022-S1.-2(A)
# QUESTION
Subject: General English | Chapter: set-15

Q@) State the grammatically correct sentence.

A. What fine the weather is !
_ v B. What an intelligent girl she is !
Options
What fluently he speaks !
D. How a sharp memory she has got !
Q@2 Most children ~ (resemble) their parents.
A. keep on
‘ v B. take after
Options
go through
D. make off
Q@B He promised to help me, but later he (failed to keep) his promise.
A. dropped out of
_ B. fell through
Options
did away with
s D. went back
QM) The audience ~ requested to leave by the nearest exit.
A. is
_ B. was
Options
J Gy are
D. has been
Q6) The teacher said to me, "Have you done your homework ?"
The indirect speech of the above statement is
A. The teacher asked me if I have done my homework.
_ B. The teacher asked me if you had done your homework.
Options
JC. The teacher asked me whether | had done my homework.
D. The teacher asked me whether I did my homework.
Q(6) Radha was made at the party.
A. dance
_ v B. to dance
Options
dancing
D. danced

Q@) Choose the correct antonym of
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Options

Q@)

Options

Q®

Options

Q (10)

Options

Q1)

Options

deadly :
JA. harmless
B. trivial
clean
D. order
I you because you have cheated me again.
A, unbelieve
B. misbelieve
disbelieve
D. imbelieve
His foot prints were clearly in the heavy dust.
A. evidence
v B. evident
evidently
D. evidencing
These oils may cause to your skins.
A. irritate
v B. irriation
irritatingly
D. irritant

Many animals are able to communicate with each other very well-but none of them can talk as
we do. That's no animals use words. Birds cry out and make sounds that other birds
understand. Smells, movements, and sounds are used for communication by animals, through
which they express joy and anger or fear, Human speech is a very complicated process, which
no animal can perform. One reason is that in a very special way we use a whole series of
organs to produce the sounds we want to make when we utter words. The way our vad cords
are made to vibrate, the way the throat, mouth and nasal cavities are adjusted, the way the lips.
teeth, lower jaw, tongue and palate are moved-just to make vowel and consonant sounds, is
something animals can't be. They can't produce a whole series of words to make a sentence
And there is another perhaps more important reason why animals can't talk. Words are only
labels for objects, actions, feelings expressions and ideas. For example, the word bird is a
label for a living flying object. Other words describe its colour, shape, Flying and singing.
Still other words would be used to tell what the speaker thinks or feels about the bird or its
actions. For human beings, therefore, the use of words means the use of labels or symbols, and
then organizing them in a certain way to communicate something This requires a degree of
intelligence and logical thinking that no animals have. So they can't talk the way people do

Communication in animals is made through:
JA. smells, movements and sounds
B. smells, sitting and flying
smells, sitting and running

D. smells, sitting and eating
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Many animals are able to communicate with each other very well-but none of them can talk as
we do. That's no animals use words. Birds cry out and make sounds that other birds
understand. Smells, movements, and sounds are used for communication by animals, through
which they express joy and anger or fear, Human speech is a very complicated process, which
no animal can perform. One reason is that in a very special way we use a whole series of
organs to produce the sounds we want to make when we utter words. The way our vad cords
are made to vibrate, the way the throat, mouth and nasal cavities are adjusted, the way the lips.
teeth, lower jaw, tongue and palate are moved-just to make vowel and consonant sounds, is
Q(12)  something animals can't be. They can't produce a whole series of words to make a sentence
And there is another perhaps more important reason why animals can't talk. Words are only
labels for objects, actions, feelings expressions and ideas. For example, the word bird is a
label for a living flying object. Other words describe its colour, shape, Flying and singing.
Still other words would be used to tell what the speaker thinks or feels about the bird or its
actions. For human beings, therefore, the use of words means the use of labels or symbols, and
then organizing them in a certain way to communicate something This requires a degree of
intelligence and logical thinking that no animals have. So they can't talk the way people do

The noun form of communicate' is:

A. communicative
) B. communicated
Options o
v C. communication
D. communicating

Many animals are able to communicate with each other very well-but none of them can talk as
we do. That's no animals use words. Birds cry out and make sounds that other birds
understand. Smells, movements, and sounds are used for communication by animals, through
which they express joy and anger or fear, Human speech is a very complicated process, which
no animal can perform. One reason is that in a very special way we use a whole series of
organs to produce the sounds we want to make when we utter words. The way our vad cords
are made to vibrate, the way the throat, mouth and nasal cavities are adjusted, the way the lips.
teeth, lower jaw, tongue and palate are moved-just to make vowel and consonant sounds, is
Q(13)  something animals can't be. They can't produce a whole series of words to make a sentence
And there is another perhaps more important reason why animals can't talk. Words are only
labels for objects, actions, feelings expressions and ideas. For example, the word bird is a
label for a living flying object. Other words describe its colour, shape, Flying and singing.
Still other words would be used to tell what the speaker thinks or feels about the bird or its
actions. For human beings, therefore, the use of words means the use of labels or symbols, and
then organizing them in a certain way to communicate something This requires a degree of
intelligence and logical thinking that no animals have. So they can't talk the way people do

For using words properly human beings require:

A. a degree of graduation

v B. a degree of intelligence and logical thinking
Options
C. logical thinking's and sound

D. logical thinking and imagination

Q14 Many animals are able to communicate with each other very well-but none of them can talk as
we do. That's no animals use words. Birds cry out and make sounds that other birds
understand. Smells, movements, and sounds are used for communication by animals, through
which they express joy and anger or fear, Human speech is a very complicated process, which
no animal can perform. One reason is that in a very special way we use a whole series of
organs to produce the sounds we want to make when we utter words. The way our vad cords
are made to vibrate, the way the throat, mouth and nasal cavities are adjusted, the way the lips.
teeth, lower jaw, tongue and palate are moved-just to make vowel and consonant sounds, is
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something animals can't be. They can't produce a whole series of words to make a sentence
And there is another perhaps more important reason why animals can't talk. Words are only
labels for objects, actions, feelings expressions and ideas. For example, the word bird is a
label for a living flying object. Other words describe its colour, shape, Flying and singing.

Still other words would be used to tell what the speaker thinks or feels about the bird or its
actions. For human beings, therefore, the use of words means the use of labels or symbols, and
then organizing them in a certain way to communicate something This requires a degree of
intelligence and logical thinking that no animals have. So they can't talk the way people do

The emotions which are expressed by birds are:

A. joy, love or hate

) B. joy, jealousy or zeal
Options i
joy, fear or anger

D. joy, cry or anger

Many animals are able to communicate with each other very well-but none of them can talk as
we do. That's no animals use words. Birds cry out and make sounds that other birds
understand. Smells, movements, and sounds are used for communication by animals, through
which they express joy and anger or fear, Human speech is a very complicated process, which
no animal can perform. One reason is that in a very special way we use a whole series of
organs to produce the sounds we want to make when we utter words. The way our vad cords
are made to vibrate, the way the throat, mouth and nasal cavities are adjusted, the way the lips.
teeth, lower jaw, tongue and palate are moved-just to make vowel and consonant sounds, is

Q (15) = something animals can't be. They can't produce a whole series of words to make a sentence
And there is another perhaps more important reason why animals can't talk. Words are only
labels for objects, actions, feelings expressions and ideas. For example, the word bird is a
label for a living flying object. Other words describe its colour, shape, Flying and singing.
Still other words would be used to tell what the speaker thinks or feels about the bird or its
actions. For human beings, therefore, the use of words means the use of labels or symbols, and
then organizing them in a certain way to communicate something This requires a degree of
intelligence and logical thinking that no animals have. So they can't talk the way people do

Animals cannot perform human speeches as it is a:

A. complete process
B. easy process
Options )
v C. complicated process
D. confused process
Q (16 Translate in to English:-
?iﬂ@ ARRIQ @7 Ffam dislg ARE |
A. [ was going to my teacher every Sunday.
B. [ have gone to my teacher every Sunday.
Options
[ had gone to my teacher every Sunday.
v D. [ am going to my teacher every Sunday.
Translate in to English:-
Q(17)

QI 6960 24l 2RI 2R 696 218l QIE |

Options JAL Today is not as cold as yesterday.

B. Tomorrow will not as cold as Today.
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C. Tomorrow will same as cold as Today.

D. Today is not as cold like yesterday.

Translate in to English:-

Q(18) < -
U6 49 QBIUR F16m |
A. Lodgings was always available at Puri.
B. Lodgings always have been available at Puri.
Options
Lodging were always available in Puri.
v D. Lodgings are always available at Puri.
Translate in to English:-
Q19
QIdl 671168 QL6 QU6L's 6Lem |
A. Father give me much advice.
v B. Father gave me much advice.
Options .
Father given me much more advice.
D. Father gives me so much advice.
Translate in to English:-
Q20 . = _ 8
661l AIR 62161T FHIF9G am SIS ge% |
A. For me all news is good .
B. For me any news was good news.
Options
JC. To me no news is good news.
D. To me all news was good news.
Subject: Odia Language | Chapter: set-15
IRIdee dalsl @l
Q) || =
deIm alg
v A. aelsg
B. d1el €1g
Options Il
del €1g
D. delag
NQIdeen dald @l
Q@)
QEEYR AW-
A. aoe@4ly
v B. REYIILIR
Options
C. dgewsly

D. Q6N
Q0 aggygaalg|
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Aol%-
A. delslle
v B. gl¢lalle
Options
C. S94dle
D. a4l
QW 29 9909 FAS AAEIRURT §R K6 68 2
alisll
A. aeligl
. B. qalgl
Options _
JCs aoUsll
D. aaus!
a9 dada gee geus 8glel |
Q) - v ¥
2gme’

VA 28R + Qe
B. 2IER + A9
C. 2190 + 29
D. U8R + A

Options

Q6) "I LI FESI Qe ﬁ6§| - 92| 99 & gRIoQ QIRY ?
A. Q99 9oR
B. 396 9o
Options h
JC. @ld 4o
D. dieQdlf]@
Q(7) oA LRIAG AR FIB 2&R | - 9@ FIRYTQ 6415 QIRUER TGS FEM A'Sl 69T ?

A. STUN YRIAG IRIEIM L 2GR
3, B. SFUN §IRU VIR CNL ?.lé]l?ﬁﬂl J
JC. SFUN KRG SRl G AL &R |
D. ARI9G AR AN IS &N |
Q@) 197 297 49| - 99 @ RIea [IRY ?
JA. REASY
B.  @felgy
QAUILISY
D. Q918 SUSY

Options
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Q) Q6918 dg6R §f 68 59l |
(A)augd (B)awigd (C)2lwlg (D) digd
A. a2y
B. iy
Options
C. 2Iwug
v D. e

Q(10) 'RIVE 5SI60 ARSI - YR 212 F6YIS 692 QEIQ §HITEE ?

LIP6R & FIR QSR ARG
c8q 6eghal S8l fIgEa
e LIRS

AR 6319IRR!

R°AUR1 262 A0F 652 AGRIS PG A

Many passengers got hurt in the train accident.

691 QUTEIER A% 6MIS FLC 6TIR2AEM |
697 QUTEIER A8 6MIF 2ILE 6L6M

69% GEOGIER 26T 6RIF FEE 6RINIT |
69 QUTEIER 26RT 6T 2ITS 6LEM |

AR AQPERER I0F 332 AFRIQ SAT |

Tomorrow is Sunday. I am taking my children to Nandankanan.

QR TSN | 6619 INFNFF FLEFIFER 2GS |

QIR DRI AR 1 ] 6619 TRFING FLRFIFE 68R2IE |
QIR ARKIR R 1 €] 6619 TRICILG FLRRNITE 6TR2YM |
R ARGIA | ] 6619 IRNFILGF FLRRIFE 667 |

R AG6R0A 409 62 2GS S48 /9

My sister is getting married next month .

2! CILER 651l RAGA FRULR 629 |

299! FIF6R 651l RASIA FRUUR 6T F1F |
98 FIY6Q 661l QRENA FRULR LRI M |
9% FIK6R 661 QRENR FRILAR 2AMI |

R°AUR1 AR A0S 652 2GS FAR A

Brother would have helped you in time .

A.
JB.

Options
C.
D.

Q (11)
A.
B.

Options
C.
v D.

Q12)
A.
B.

Options
C.
v D.

Q13)
JA.
B.

Options
C.
D.

Q(14)
Options A

B.
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< C. QR S Kl A6 AILIAY FT2UIES |
D. grIq 2l AFAER QIR ALY FQRT |

R°AUR1 AR 40K BF2 2AGRIQ AR KR |

The police would have caught the thief in time or in right time.

Q@s)

A. 62195'g L2l AN 6T US|
v/B. 6dimg 65195 Lol AFINER UR2UES |
6dImg 65195 Ll AFA6R URRILIT |
D. 6dIMg 69195 Kl AFAER URES |

Options

29689QT dI0RR &I 6 TAINRN2YS] YL QAQ, 2AFERL 2RINER 2 |

THIAR 9RGIT IMER AAIG FIRT QLR AW FRYIS AYE 6TRE | NGRS AIF6R
QRSN AT TIAM 6TRAIRE | TS 6<IY TR T GAEB AFTS 626 TS |
IRG°4 SIRIR16R 'aq dIF SI08 AR 908 99 691R QERIE | goIe1 @6 FHIFA 92D
AOIRRIYER TRIQIFIEE AGY JLR ALY QEAUITE 26 MG IFRE | 9LYYER 919G
198 AARIR gYT Gl QER | dISY 6660IeE AL SIR 69R 2l 694 7131 \ 6586
2 AIPAY AGE AR | AAGA F6PR ARAE FINIFA FREG QU6 97 9
QAN | 6FRIIST RICKIGIFIER 2RI ALIRIS 16TV 6T T66I9 2T 6QHARST |
IRARRSIg JRCIR ARQIg FRIF 6069 & G628 Q1T | RI0El JIRFARSIR VRELH A6
Q 2RJFFCI OTE | 99401 @ 26M, [1990! 21T QaIg 2 949 7§ 69¢6R. BI'g AR KRG
6994l 62610 GRS 2 69 QIT 62, FRIFIFIEH A AIFS AR SIS AGE F2ll
AFER NY G169V KR RS AFE | FRIF Q66 FIF A°AY 6LRYSIQ GI'G 67D
2N IS QES YRUTR | 69E 2l RACIg 6869 942l 62915 TATS K2l g6% |

6E1IST RISKIBIFIES 69Q 6ATER T6518 2T 6LHART ?

Q(16)

A. ALIRI J9l 6886 67191 RISKIBIFIER F64IY 2ige 6Q6IRKT |
Opions v B. ALIRI5 F69TE 6L6R 6711 RIZRIFICNER F661Y 2R 6QTIRRE |
LRI P16l 6FLER 6£1RIIA1 SILSBILIFNCH 6519 2IYL 696wRS |
D. G684 6FL6R 6FRIRT RISKILIFIET T66IY 2GL 6Q6IART |

2G68QT IO GI' P6R QAUININYS] YFIPYE N QA9 AFELR ARINER T2 |

RGN FRQIF YR6EA AP FIFS RITA U6EN FRYIS 2 6LIR8 | F1TRUINERN FIGER
QERHDIA 2FIE LIIM 6LIRAIE | TR sms,l@am @q eS8 AFEE 626 NTR |
IRG°d SGIR169 'aq dIf 108 2R 998 99 6%1R QERIE | a1 @6 FHIFA g2
APIRSINER THIFICIES AGY JER ALY QLWITE FARI6R AT IZRS | 9LYFeR 996
199 @AQIR 99T SlR QER | ALY 699719 IL GIR 69 2lIFl 694 £1d 4 6/FER
Y2 PR 2GR FOR | UG F6PR ARAIS FINIGEH FREG QISER I8 €
QAR | 6ERIINT RISKIBIFISS YR ALIRIS G16QTE L6 F6619 2T 6QHIART |
ammfa@@ J9QIq fRQIg TR 66 § g6@ Q1T | 106 AIALARTIR FRRE A6
¢ ARYEAS! ICFT | 9991 & 26m, RILG 2T Q2IG ? 99 @ 6L9H6R, BI'g AR KRG
6996l 68016 AR 2 69 QLI 62Q, FRIVIFIEE A7 FIRS AAIRA A IGPE AGE @2l
6D QY F169F48l IR AR ATE | FHIG T6EIY RIG 9°AF 62RYIIQ BI'g 63D

A 2l QLRI YRUTR | 69 2l QRAIG 6R6S 42 62Q1q QAL @2l EJ‘_GQ I
TRIG CALER RNUACA 9 AANGY 961 ?

QA7)
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SIS 6869 QINGR AgrR QIS FITISE 98 98 QARSY |
dinies B. GHIQ 69869 QINS9 9F AGIE 98 98 QRS |
/C.  GOHIG 6I260 QIR FIGPR 2RAIE AIIga 98 98 QURSY |
D. GHIF 69869 QINGA 65 AEKIF QIISE 98 €8 QURSY |

AFERLT 0GR BI' F6F FAIYINYS] YJETN AQR, AFERS ARINECR & |

TRER FARIR YR6R AAIG AN RIS 2A6HY FRYIE] AlYS 6TIRR | F1RUIQER FIFER
QERGIF1E AFIE LIAM 6LIRURR | FRIG Gﬂl%l‘a‘éllﬁ? Qé:] eS8 AFTC 62Q6R MITR |
IRG°d 1519169 'a4 JIF FlI08 IR 908 99 68IR AERIT | a1 SF6R IRF gD
AOIRLIYER TRIFFNEE 2T LR QLY QQATE FRRI6R MT ACRE | FFYFER 94T
192 229IQ 99E Sl Q&S | AISGY 6Q47Ie 42 FIR 69 2lIFl 666l F1& \ 68LE6R
2192 APRY AGE F0R | AINCR FIFPR ARIE AITISH FEG A6 98 8
QUMY | 6ERILT RISRISIAIER YR FIZIRIE SI69T6I 69869 T6619 2gE 69HINRE |
AIRARREIg IRCIR KRRIg FHIG 6968 @ 96T Q1T | FI9E AAFIRRFIA YRR AR
G ARYLRC gO/E | /g0 @ A6M, LRI 219Q g2 2 949 @ 62%6M. BI'g AR FRRIG
6996l 69718 TRe 2 69 QLI 629, FRIRIFISE IAG FIFS IR ASIGHE 9QF @2l
PR QY 16988l KIR AFHS REC | FRIG F641 KIG L°AF 62102SIQ BI'g 64R
ageon 2ligl QEQI YIUFR 1 69 2l @aw@ 6969 QU2 6291 TS Q2 Q6L |

2 699 S2l AR Qo8 99 61N QEGIE 2

Q (18)

A. Q¢ S191R16R 'S4 JiF S0 2R 9B Y 681N QEQIE |
v B. YaG°¢ d21916Q 'S4 gifl 9106 2R 98 Y 62IR QAT |
Ya5°¢ 991916Q 'S¢ J0R 2R 922 99 6TIR QEQIE |
D. Q°6l FIBIN1ER QY F10Q 2R TS Y 62N QERIE |

Options

AFELRT dIOFA GI' G6F TAILINYSI GIYEIN AR, AFELF ARIAECH T2 |

IRIER YRS ARER AFIG FINS RITR 26EY aMYIS! Qs 6TIRE | FISRUIQER FIFER
QERHN1L 2YDIE LI 6TIRARS | TRIQ 6£1|619<51m es] [RS8 AFTE 6996Q MITIE |
IRG 4 SQIN16R 'Gq FIF! FI08 AR 998 Y 6TIR ALRIE | gAS1 SF6Q IR gAIR
AFIRSILER FRIFICNCR 2GY JLR Q@Y REWITE KRR MIT ICKRE | YRR 996
I KRR IYE SR QLR | dISGY 6Q6AIem AR QIR 69@ 2lF1 656l F13  6Z6R
2HQF2 AIPRY AGE FR | NS (PR ARAIE AITISH FHG AU I8 88
QIRSY | 6£RIST RISRIFIFIET YA FIZIRIE G6SVEI 6AS6T T8 2AIFL 69HARE |
JIQFARGIg JRCIR ARIg TRIG 6961 § 962 QIF | R10¢ UIRFRARSIA VRRT RUER
G 2ARYERC gETe | 290l @ 26, Q199el 2199 g2l 2 949 @ 69H6m, BI'g AIRIA ARG
6994l 68516 ARS 2 64 LIL| 622, FRFANER DA FINS AANRR A IGHME AFE Fll
PR 2 F69T6I RIR AL REC | FRIQ F64F RIQ L°AF 62IR]IQ BI'g 670
AFENN 26 Q2SI YRAFR | 692 2SI RRQIG 6968 42 6291g TASI K2l g62 |

FFRI B Q1L FIIER @ °AG QA& 2

Q(19)

Options A 980960 QAR 068 UREGS! 0TS 692IR K991 J6R. SI1996!
C 29ae |

AAHNFCI0 RRRT AUER ARYFFG! AT 69N FFL 26M FILLG! 2AAAR
|
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JISIRGTIR RRRT AUCR YT ALYE 692/0IR 54| F1T, IS AR
!

ANMRRGID REGE R6S AREFE! TS 692 KT € 26M, SIS

VDo maae |

AFERLT 0K BI' P6R TANYS| YYYETIN QAR 2AFERT ARNRER T2 |

TRIER QAQIR SREQ AAIG FIFE QAITA 26HIY aMUIE ARG 6TIRE | MILRURER FIFER
QEREIA1A ATSE LI 6LIRAIRE | TR 6219 YR T 71618 AFTE 62916 MITE |
4RG°d F519162 ' FIET FI0S 2R A8 99 691R ARG | g1 f6R RITR gAIR
FSIRRITER SRIFIAER 2ARY JL€R QLY QRATE A6 RIT IGRE | 99IT6R 99T
gIde @09I9 996 SR Q&8 | AISeY 699FIea A8 GIR 69R 2IF 694 F12l 9 6386
22 APAY 2EE 0 | UG FIFPR ARAIE FITIFF TG QISR IG 98
QUNRY | 6FRIIST RIGRIBIFIEE 2R FIRIRIE FI69TEI 6ASER F66IY 2P 6TFNART |
AISSIRARSIG LI FALIG FRIG 6R6E @ G6€ Q1T | ARG UGN QR QAU
@ ARYENC! JoTe | 9991 @ 26m, Q1Lae! AT alIg 2 99 @ 69%6m, ¢I'g AR KLY
69l 60516 ARG 2 64 AITI 68%, FRIQIAIEE AFY FIAS AR ASIEPE RS @l
UINER QY F6STSI IR QY QPG | TRIQ T6IY RIF L°AF 6LRYQIQ BI'g 68R
AL 2 QTR YRR | 693 2SI RAQIG 6869 U2l 6291g F2ALII K2l @6 |

FMLG 69R AYAIN 2SN FITE QTR 2

Q (20)

JA.  OBIG G649 BIF 9°03 621R2ISIR SRIFG 69R AYFIN 26 OER |
FERIS T6618 BIQ ITIR FQIASIQ FRIGG 68Q ALFIR 26l OER |
FHIS IS Y918 FQISIQ SRIGG 69R ALFIRT 2SI OEF |
F8Ie T6618 FRIQ 2°0F 62IRYSIQ FRIFG 668 2NN 2l 9 |

Options

Subject: General Studies and Computer | Chapter: set-15

Q) When light moves from rarer medium to denser medium then it bends

A. away from the normal
v B. toward the normal
Options
C. 60" to the normal

D. None of these
Q®) WAN stands for

A. Wap Area Network
B. Wide Array Network
Options
JC. Wide Area Network
D. Wireless Area Network

Q@3 Multi programming system

A. are easier to develop than single programming system
) B. execute each job faster
Options S ) )
4 C. execute more jobs in the same time period
D. are used only one large mainframe computers
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The nuclei having the same number of neutrons but different number of protons or mass

QW number are known as
A. isobars
_ B. isoelectrons
Options )
C. 1sotopes
s D. isotones

Q5 Which of the following vitamins is synthesized in the body by intestinal bacteria?
A. Vitamin B
B. Vitamin By

Options
C. Vitamin D

JD. Vitamin K

Q (6) Using a search engine, you can look for

A. Articles, Stories and News
. B. Images and Videos
Options )
C: Games , Websites and Software

JD. All of these

Q) The undesirable substance present in an ore is called

A. flux
) v B. gangue

Options
C. slag
D. minerals

Q) To enable synchronous scrolling of two documents, you should first enable feature.
JA. View Side by Side

B. Split Windows

Options

a Reset Windows
D. Arrange All Windows

QO Which feature can you use to combine two or more cells into a single cell in a table?

A. Insert Cells

_ B. Delete Cells
Options

Vv € Merge Cells

D. Split Cells
Q (10) = On which lake is India's first and only floating post office located?
Options | , 5, Dal Lake, Srinagar

B. wular Lake, Jammu and Kashmir

C. Vembanad Lake, Kerala
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D. Pushkar Lake, Ajmer
Q (11)  If suddenly the attractive power of the Earth drops to zero, a man standing on the Earth will

A. Fly up
' B. Slide along the surface
Options )
JCs Move out tangentially

D. Stand unaffected

It is common knowledge that matter exits in 3 states- solid, liquid and gas. Each of these can
Q (12) = change into the depending on temperature and pressure. Science has identified a fourth state
of matter which is found in the stars. Name it.

JA. Plasma

_ B. Vacuole
Options

Magma

D. None of these

Q (13) Which of the Indian Islands has been declared 'a world biosphere reserve' by the United
Nation Educational, Scientific and Cultural Organization (UNESCO)?

A. Andaman
) B. Lakshadweep
Options .
JC. Nicobar

D. None of these
Q (14) = The shape of our Milky Way galaxy is

A. circular
B. elliptical
Options :
LG spiral

D. None of these
Q (15) = By which name does the Brahmaputra enter into India?

A. Manas
: B. Dhansiri
Options
v C. Dihang

D. Tsangpo

Q (16)  Which of the following states in India has the maximum number of fast track courts?

JA. Bihar
) B. Uttar Pradesh
Options
Goa
D. Kerala

Q (17) = Recognition to a political party is accorded by

Options |~ A, the Speaker of the Lok Sabha in the case of national parties and the Speaker of
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legislative assemblies in the case of regional parties
v B. the Election Commision
s the Ministry of Parliamentary Affairs
D. a Committee of Whips

Q (18) | 'Charak' was the famous court physician of

A. Harsha
_ B. Chandragupta Maurya
Options
(07 Ashoka

JD. Kanishka
Q (19) | The coast that belongs to Kerala is known as

A. Konkan Coast

v B. Malabar Coast
Options
C. Coromandel Coast
D. Canara Coast

Q (20)  Anantapur district in Andhra Pradesh is famous for

A. Copper
_ B. Zinc
Options )
C. Mica
v D. Gold
Q1) Which state is to the West of Odisha?
A. Jharkhand
v B. Chhattisgarh
Options
C. Goa
D. None of these
Q(@22) In which year the first Oriya Magazine "INANARUNA" was published :
A. 1822
_ B. 1836
Options
C. 1842
v D. 1849

Q(23)  King Kharavela belonged to which royal dynasty :

A. Nanda
B. Maurya
Options v
JC. Chedi
D. Satavahana
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Q (24)  Indian industrial growth increased after First World War because:

A. British opened new factories in India.
) B. New technological changes occurred.
Options _ _
v C. Indian mills now had a vast home market to supply to.
D. India became independent.

Q (25)  Which state government has started a new scheme HIMCAD to help farmers?

A. Odisha
B. Assam
Options ]
J C: Himachal Pradesh

D. Karnataka
Q(26)  Who has been announced to replace Sourav Ganguly as the president of BBCI?

A. Ravi Shastri

B. Kapil Dev
Options .
v C. Roger Binny

D. Sunil Gavaskar
Q (27)  What is the theme of World Coconut Day 2022?
A. Coconut for Good Health, Wealth & Wellness

.y B. Coconut Trees on the Way of Integration and Sustainable Development
ptions .
C. Coconut For Family Wellness
v D. Growing Coconut for a Better Future and Life

Q (28)  Who tied up with Adobe to advance digital literacy in India?

A, Association of Indian Universities
v B. All India Council for Technical Education
Options
C. National Board of Accreditation
D. University Grants Commission
0 (29) Union Minister of Railways has inaugurated India's First Aluminium Freight Rake at which of
the following railway stations?
A, Anand Vihar Terminal
_ B. Gandhinagar Railway Station
Options ] _
V4.0 Bhubaneswar Railway Station

D. New Delhi Railway Station
Q (30)  Climber Elnaz Rekabi, who was reported missing, belongs to which country?
Options | 4 Qatar

B. UAE

C. Afghanistan
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v D. Iran
Subject: Numerical Ability and Reasoning | Chapter: set-15

Three of the following four are alike in a certain way and so form a group. Which is the one
Q) that does not belong to the group.

(a) APBQ (b) CRDT (c) EUFV (d) GWHX

A. APBQ
v B. CRDT
Options
EUFV
D. GWHX

In the following question, four number are given. Out of these three are alike in a certain way
Q) but one is different.Choose the one which is different from the rest three.

(a) 145 (b) 197 (c)257 (d)399

A. 145
B. 197
Options
C. 257
JD. 399

Q3 The difference between a number of two digit and the number obtained interchanging its
digits is 63. What is the difference between its digits?

A. 5
B. 6
Options
JC. 1
D. 8

Q (4) A coach of a cricket team buys 7 bats and 6 balls for Rs 3800, later hu buy 3 bats and 5 balls
for Rs 1750. Then, the cost of each bat and each ball will be.

VA, Rs 500, Rs 50
B. Rs 400, Rs 40
C. Rs 250, Rs 40
D. Rs 300, Rs 15

Options

Q(5) The sum of series 1+2+3+4+...+998+999+1000 is

A. 5050
v B. 500500
Options
C. 550000
D. 55000

A man walks 1 km towards East and then he turns to South and Walks 5 km. Again he turns to
Q(6) East and walks 2 km, after this he turns to North and walks 9 km. Now, how far is straight

point?
Options | 4 3 km
B. 4 km
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HCs 5 km
D. 7 km

8 women can complete a piece of work in 15 h. In how many hours will 12 women complete

Q@ the same piece of work ?
A. 12
' B. 6
Options "
v D. 10

The average age of a husband and wife was 23 when they were married 5 yr ago. The average
Q@ age of the husband, the wife and a child who was born during the interval, is 20 yr now. How
old is the child now?

A. 9 months
Options b ; z:
v D. 4 yr
Q) 5 yr ago, the average of Ram's and Shyam's Age\ WS 20 yr. Now, the average age of Ram,
Shyam and Mohan is 30 yr. What will be Mohan's age 10 yr hence?
A. 45 yr
Options s S
49 yr
D. 60 yr
Q (10) g\/‘llat least value should be assigned to * , so that the number 451% 603 is exactly divisible by
A. 2
‘ B. S
Options d
D. 7
Q (1 Two numbers are in the ratio 3:5 . Their LCM is 600.Find the sum of the numbers.
J A 320
Options = 100
340
D. 280

Q (12) = Find the smallest number of five digits exactly divisible by 16,24,36 and 54.

Options || 5, 10244
B. 1029
/C. 10368
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D. 10291

In below question, choose that set of numbers from the four alternative sets, that is
Q (13)  similar to the given set.

Given set : (8, 3, 2)

A. (10,6, 5)
) v B. (63, 8,3)
Options
C. (95, 24, 5)
D. (168,15, 4)
Q (14) The present age of Ravi's father is four times Ravi's present age.5yr back.Ravi's father was
seven times as old as Ravi was at that time,what is the present age of Ravi's father ?
A. 84 yr
B. 70 yr
Options
JC. 40 yr
D. 35yr
Q (15) There are 600 boys in a hostel. Each plays either hockey or football or both. If 75% play
hockey and 45% play football, how many boy play both?
A. 48
B. 60
Options
C. 80
v D. 120
Q (16) If the length of a rectangle is decreased by 60% and the width is increased by 30%. What will
be the percentage change in the area of the rectangle?
A. 30% decrease
B. 45% decrease
Options
JC; 48% decrease

D. 48% increase
Q7)) | IfA:B=3:4, B:C=8:9, C:D=15:16, then find A:B:C:D.
A. 15:20:21:28
v B. 30:40:45:48
Options
L &2 9:15:21:28
D. None of these

Starting from a point M, Harish walked 18 m towards South. He turned to his left and walked
Q (18) = 25 m. He then turned to his left and walked 18 m. He again turned to his left and walked 35 m
and reached a point P. How far is Harish from the point M and in which direction?

Options | 4 10 m East

v B. 10 m West
C. 35 m West
D. 10 m South
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A man said to a woman," The only sister of your brother is my mother." How is that man

QM) |l elated to that woman?
A. Father
v B. Son
Options
Husband
D. Brother

What approximate value will come in place of question mark (?) in the following
Q(20) question.
29.8% of 260 + 60.01% of 510 — 103.57 =7

A. 450
B. 320
Options
210
s D. 280

Q (21)  Iftwo dice are rolled together, what is the probability that the product of two is 67

JA. 1/9
B. 1/6
Options
3/4
D. 5/36

Q(22) 5,8,3,7, 11,27, 16 What is the median of these data ?

A. i
v B. 8
Options
11
D. 16

Under which of the following conditions, the given pair of co-equations will have unique

Q(23) solutions ?
pix+qy =1y and pox + qay =13

A. PiP2= 41492
B. P1P2 # 4192
Options
ZC. P192 # P29
D. P192 = P29

Q (24)  For what values of t (1, 1) will the equation tx + 3y - 9 = 0 be a solution ?

JA. 6
B. 9
Options
12
D. 3
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If the mean M of a data set is reduced to Y the mean of each value of the data set, what will be

Q@29 the new mean of the data set?
A. my
B. m/
Options Y
o 4 o m-y
D. m+y

Q(26)  Which of the following is the sum of the terms of the equation axZ+bx-c=072

JA. -b/a
B. b/a
Options
c/a
D. -c/a

Q (27) | If one root of the equation X2 -kx + 6 =0 is 3, what is the value of k ?

JA. 5
) B. 3
Options 3
D. 1
Find the missing number in the following series
Qa8 5. 7. 9 711,813
A. 8
Options v :

D. None of these.

Q (29)  In what time will Rs.1000 becomes Rs.1331 at 10% per annum compounded annually?

A. 2 years

) v B. 3 years
Options

4 years

D. 7 years

A man took loan from a bank at the rate of 12% p.a simple interest. After 3 years he had to
Q (30)  pay Rs.5400 interest only for the period .The Principal amount borrowed by him was
?

A. Rs.2000
B. Rs.10,000
Options
S C. Rs.15,000
D. Rs.20,000
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